~ function SAT (¢)
/ * determines the set of states satistying ¢ */

begin

- case

@is T : return S

o is L : return ()

¢ is atomic: return {s € S | ¢ ¢ L(s)}
® 1s ¢ : return S — SAT (¢1)

® 1S @1 A @9 : return SAT (1) N SAT (¢2)

@18 §1V @9 : return SAT (41) U SAT (o)

@ is 91 — @2 : return SAT (—¢; V b))
¢ is AX ¢; : return SAT (-EX —¢1)

— > ¢is EX¢1 : return(SATgy (4, )\ |

O 18 A[(ﬁl U qf)_;g] : return SAT(ﬁ(E[“‘!(‘bQ U (“7(,51 ! —l(ég_)]
¢ is El¢1 U ¢o] : return{SATg (b, 023
¢ 1s EF ¢) : return SAT(E(T U ®1))

; ¢ is EG ¢; : return SAT(-AF ¢ )

ey ®1s AF ¢ : returnLSATAF g@)\

|  $is AG ¢, : return SAT (—EF —¢;)

end case

“end function
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function SATEX (gb) 7
/* determines the set of states satisfying I

local var XY
| begin v
States !»;/L-.'Ll\ X = SAT (¢); v Lp
can malke . -y. .'
a transitiom Y e pre3(X);
e X - returnY X /
k end |

function SATyr (¢)
/* determines the set of states satisfying AF
local var X,Y

begin
A=Y
Y 1= BAT ((p),
repeat until X =Y
begin
A=Y,
Y = Y U prey(Y)
end setofstates which

ma ke transition
I‘eturn Y €’ a’, Sifc S

only | o
end "_~g———ﬁ_. i
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function SATEq (0)
/* determines the set of states satistying E(
local var X, Y

begin

Y = SAT (0);

X =i

repeat until X =Y

begin |

o= ¥ | %

end

return Y Cam re éaC.( -
end Wc‘{'(

Y= SATCe)Npe )



